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Paper / Subject Code: 79103 / Computey Orienge

{Time: 2% hours)

(1) Al questions are compulsory.

{(2) Make suitable assumutions wherever neces

il -
(3) Answers to the same guestion must be

(4) Numbers to the right indicate marks.
() Draw neat labeled diagrams wherever necessary.
5—-‘

{0) Use of Nop-programmable calculators is allo“ed
%

Attempt any three of the following:

Compute the median.

[_Size 5 6

7

8

9 110 ] 11

4 Statistical Techniques

Q. P. Code: 3615()

Total Marks: 75

M ’
sary and state the assamptions made.

written tooe lier.

Frequen | 48 | 52
cy

56

60

63 57 ['55.]'5

Define Geometric Mean. How to x.alculatu 1t‘7
Find the G.M. of 250, 12, 4.5, 119.5, 42, 354 75 30

From the followiiig data, calculate Q, and QJ

Marks more than

10 J€

20

30 40 50+

60 | 70 |

No. of Students

12

3 0

54 76 91

101102

Calculate the standard dev1atlon of the helghts of 10 studcnts given as,

[Hdght(mcmslesl "162 [160° ]163 ]160 1163 [164 164 [170 ]164

Find the qualtlle dev1at10n f01 the followmg data '

)
A’ -

Marks x .

~[-5-]510

154 2()* 25

\30

No. ofsmdentf 'S

: ,8

ERET

~,::4f>‘

-

R

\\\

Attempt any three of the followmg

5,7,4,8, 1.

A random variable X has the followmg probab

t Define Skewness. Compute Coefﬁment of S

X 0 1

2

3

PX) |0 k

2k

2k

6EE225984DEF4E4FC35

‘Fmd (1) k (u) P(X<6) (iii) P(X>6) (iv) P(O<X<5)

sE8BC42401A8D

7

" Explam the Relatlon between Raw Momenis and Central Moments.
kewness for the following observations 2, 3,

ility distribution values of X
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Paper / Subject Code: 79103 / Computer Oriented Statistical Techniques

Q. P. Code: 36160

The data from a survey of 140 students showed that 37 study Music, 103 play a sport and
25 do neither. Create 2 Veny diagram to ilustrate the data collected and then determine
the probability that if a student is selected at random, "

a) He or she will study music

b) He or she wil] study music given that he or she play sport

It has been found that 2% of the to0]s produced by a certain machine are defective. What
is the probability that in a shipment of 400 such tools. _ y

a) 3% or more . " F 2 i o

b) 2% or less TR N NG S 8
will prove defective? ' ey

The electric light bulbs of manufacturer A have a mean lifetime of 2800 hours with a
standard deviation of 400 hours, While those of manufacturer B have a mean lifetime of
2400 hours with standard deviation of 200 hours. If random samples 0f:250 bulbs of eacl;
brand are tested, shat ig fhe probability that the brand A bulbs will have a mean lifetime
that is at least, 5 y ~

(a) 320 hours ¢ 7 (b)SOO hours more than thj::‘brand‘B, bulbs? -
Attempt any three of the following; - o 15

Five bolts drawn From the bolts produced.by a certain machine have lengths 3.3, 3.28,
3.31, 3.33, 3.28 cms. Eipd an unbiased €stimate of the variance of the length the bolts
produced by the machine ‘

A random ,sam.]jv]'é".o‘f' 1()\01aﬁ.icl_es selected from a batch of 2000 articles shows the average
diameter of the ‘articles Is:0:354 with standard deviation 0.048. find 95% confidence
interval for the 'av@;égéiyvllplgfbat\(}h‘f\: A

How to calcuiété :éjﬁiln\fei:»i/jziil‘v;E'stivrpéi‘te?,'State'the difference between a Point Estimate and

an Interval Estimate. ©
XY oL

Y

C o QAT S 1 . ‘
Fora certain test for coin; Ho: P = 5 againstH, : P= 3 can be retained where P represents

the probability Qf.gg'ﬁtiug a .t_zi_il';‘ To decide this coin is tossed four times and Hy reject only
if the number of heads obsetved is 0 or 1. Find the probability of both types of errors.

A certain coin is s‘l‘lo\;ved‘upA head 270 occasions in 500 (osses. Test the claim that the coin
is unbiased. '

Explain with example in-built functions available in ‘R> to generate normal distribution.
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Paper / Subject Code: 79103 / Computer Oriepgeq Statistical Techmques

Q P. Code. 36160

Attempt any three of the following:

For a random sample of 10 pigs fed ondiet A, the jncreases in Welght in_pounds in a
ceitain period were:

10, 6, 16,17, 13,12, 8,14, 15,9 los. _

For another sample of 12 pigs, fed on diet B, the increases in the same period were.
7.13,22,15. 12, 14,18, 8, 21, 23, 10, 17Jbs

2 ==

Test whether diets A and B d1ffe1 significantly in we ight. Take & ==0.05

Fm the significance of the following rank coueletmn eoeftment at’5% level.”
=0.139, n=10 '

Suppose 3 groups each consisting of four students are taken from class XII from 3
different schools. A test of mathematics is tal\eu The resuits is:

School A : 71,75, 65,69 . S F S

School B : 90, 80, 86, 82_;_.-“ s WS SR

School C : 72, 77,76,79 |- ST
Compare the mean scores ot‘thé'schools - F = 8 : : :;,_\;:

[ an experiment to study t the mdependence of hypertension on <mol\m0 hablts the
following data are taken from 180 individuals.

- Non- Moderate Heavy ", Total
- _smokers ' sino‘kers smokers -
Hypertension  *- P2 1070 36, 30~ 87
No- hypertensmn R 4 26 _ 19 93
Total T o 69 ¢ , 62 49 180

Test the hypotheSIS at 0.05 level of sngmﬁcance that the presence or absence of
hypertension is mdependent of smoking habits.

The number of defects per umt ina sample of 330 units of a manufactured product was
found as follow: " Nf'.& PR AN

No. of defects — J 0= 1-]°2 | 3 | 4~ y

No. of units” 74’27 923120 | 3 [ J¢

#;&Q

o

Fit a position dlstrnbutlon to! the data and test the goodness of fit.

" How to calculate antmgency“Coefﬁment?

[TURN OVER]
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caper / Subject Code: 79103 / Computer Oriented Statistical Techniques

Q. P. Code: 36160

Attempt any three of the following:
Find the regression lines of equation for the following.

7 19 |11

| Advertising Expenditure ('0().: sy | 3 3
Quarterly Sales (0000 wnitsy [ o | (2] 16 | 14 B

Fita second degree curve Y = g+hy+ex’ 1o the following data

X | 5 [ 10 | 152025 [.30]
y | 1 [ 13 | i6 | 20 28 |36
Caleulate the Coefficient of Correlation between the Age and Blood pressure of given
seople from a colony. _ .
AgeinYears | 60 | 65 | 70 [ 40 | 45 | 50 | 55
Blood Pressure | 145 | 160 | 160 | 125 140 1 140 L 145

Given the fellowing darta estimate the linear nend equatlon F md trend values and

calculate the trend vaiue of
Year 201012011 ] 2012 |2013.] 2014 3\:-;

30 38 | 50| 56

No. of cars (in Thousdnd) i1

Find () o« (b) 03 ’(C)V(x) () V(y) and (e) cov (x, y) forthe following data:
I R

X 1 27 3

[§8)
n

Y ~ 47 5 N
Also \enf\ T —cm /ox oy
The two reore>510n lmes bet\\ een x and y are ‘given below Find t y andr.

IOO\—43\—1400 -0 E
dy-5x+200 =0

N N
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